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Quiz 4

1.  The rate of inflation in the U.S. in 2004

a.  
was higher than it has been in most years over the past two decades.

b.  
was negative, which means we had deflation. 

c.  
has been roughly constant for the past three years.

d.  
is similar to Germany in the 1920s.
Inflation in the US is lower than it was in most of the 1980s and early 1990s, so a is incorrect.

We do not have deflation and German inflation was in the thousand percent per year range.  

US inflation has been roughly constant for the past 3 years, so c is correct.
2.
The simple circular-flow diagram illustrates that

a.
production generates income so that income and production are the same.

b.
the economy’s income exceeds its production.

c.
the production of an economy exceeds its income.

d.     inflation has always been a problem in the economy.
A is correct, which means that b and c are incorrect.  The circular flow does not deal with inflation.

3.
Which of the following is not included in GDP?

a.
unpaid cleaning and maintenance of houses

b.
services such as those provided by lawyers and hair stylists

c.
your purchase of an original work of art by your neighbor
d.
the cars produced by a Toyota plant in Ohio
Unpaid services are not included in GDP, so a is the answer.  Services for which payment is made are included, as is original, new artwork (but not old art).  Cars produced by a foreign car company in the US are included. 
4.
In producing a sweater, a man who shears sheep pays a farmer $4 for a sheep. The shearing shop sells the wool to a knitting mill for $7. The knitting mill buys he wool and makes it into a fine fabric and sells it to a sweater-making firm for $13. The sweater-making firm sells the sweater to a clothing store for $20, and the clothing store sells the sweater, gift wrapped, for $50. What is the contribution to GDP of the previous sales transactions?

a.
$4.

b.
$44.

c.
$50.

d.
$94.
Remember, GDP is the sum of value added in the economy.  If the final sale is $50, that is how much GDP rises. You can also figure that out by adding the $4 in value added by the farmer, $3 in value added from the shearing shop ($7-$4), $6 in value added by the knitting mill ($13-$7) , $7 in value added by the sweater making firm ($20-$13), and $30 in value added by the store ($50 - $20).  The total value added is $4 + $3 + $6 + $7 + $30 = $50. 
5.   Suppose that a country’s population grows by 2 percent. For the standard of living to rise, which of the following must occur?

a.
Nominal GDP must grow by more than 2 percent.

b.
Real GDP must  gow by more than 2 percent.

c.
Real GDP per capita must grow by more than 2 percent.

d.
The standard of living cannot rise if population is growing.
If the population is growing by 2%, then real GDP must grow by more than 2%, so b.  If nominal GDP is growing by more than 2%, say by 10%, but inflation is 13%, then real GDP per person is falling.  Even if inflation was 9%, real GDP per person would fall.  If real GDP per capita was growing by more than 2%, than the standard of living will rise, but real GDP per capita has to grow by more than 0% for the standard of living to rise, no matter what the population growth is.  Since the question asked what of the following MUST occur, c is not the best answer.   D is obviously wrong. 
